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# Trigonometric Substitution
Section 8.4
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Popper Number 07
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2. Give the slope of the tangent line to the graph
of f(x)=arctan(2x — 1)+ 37 at x=0.



Trigonometric Substitution

The following terms can sometimes cause
trouble 1n integration problems:
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Fortunately, these terms can be collapsed
by using trigonometric identifies.
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Making Appropriate Substitutions
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Examples: What substitution would help with the
integration?
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Related, but more complicated...
(The key is completing the square.)
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Popper Number 07

3. The substitution x = asin(é’) would help with

the integration of /15— x". Give the value of a.

4. The substitution x =atan (9) would help with

: : 2.
the integration of Y16+ x . Give the value of a.
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